| i >
1. U® HISNR 3t yfy
W) TEWr (B) wfarefterar &1 vy
The role of a moderator is: |
(B) Managing the dynamics

(A) Focus on group

(C) Smooth running of discussion (D) Al of these

2. loT onfdaar & urd avur 1 82
(A) T N, T ST
B) TR IR TERYER
©  oTer e IR TS fadwm
©) ¥
What are the effective stages of loT architecture?
(A) Internet gateway, Edge information
Sensors and Actuators

(B)
(C) Data center and cloud analysis
(D) All of these
3. mmmnoTwmﬁ-meﬁzqﬁa% ?
(A) UfTI-GeudTRd @) e - R
: (C) TaEad USR (D) 9R-4
| Which type of loT communication model is bi-directional and fully duplex?
(A) Publish-Subscribe (B) Request - Response
(C) Exclusive Pair (D) Push-Pull
4. lpva R Ipvé WWWW!ﬂ@HWWWWW%V
32-fde 3R 128-fde

(A) 128fde 3R 16fdC 4B)
) szefae 3R safae (D) 16fde 3R 128-fac
Which address schemes are used by Ipv4 and Ipvé internet protocols?
(A) - 128-bit and 16-bit (B) 32-bit and 128-bit
(C) 32-bit and 64-bit (D) 16-bit and 128-bit

5. loT sfdeaar & fer ygad UelcTgy groaur 8/8:
(A) TEEd urg (B) ArduinoUno (C) &gt as D) ot
The prototype hardware used for loT architecture is/are:
(A) Raspberry Pi(B) ArduinoUno (C) Cubie Board (D) Allof these
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6. 8051%:

(A) 4-f3T ArgIdHTIR (B) 8-fde ArgIdEIR

© 12T AP (D) 16 fare AP

8051 is:

(A) 4-bit Microcontroller (B) 8-bit Microcontroller

(C) 12-bit Microcontroller (D) 16 bit Microcontroller
7. SRS Rend

(A)  HfEn ¥ fer fpdt Az eﬁlﬁmaﬁmmmq—aa
(B) R TW 31§ € yoreht & A
© JsfEd Off e @ 98 BR bl &

(D) AR ¥ g arg i F1gT Bt 3TaTaHdl gl &
In bar code system
(A) No line of sight required for readmg
(B) Same as RFID system
(C) From any angle reader can read
(D) Line of sight required for reading

8. arRAd Joad UHR o Sl F 10T P Y qgrr 2d €, 3¢ :
YR (2 Si1-5 off) Feadh Herdia

(B) M
€ FecaadER

D) T
The wireless network types that promote loT deployment in industries are:
(A) Cellular (2G-5G) network protocols
(B) Bluetooth
(C) Near-field communication
(D) All of these

9. g P fagwanaem g

(A) Nl Bt A BT B) St &1 AnfeE SR
(©) UH MR ded I Bl D) TR

The leadership trait/traits is/are:

(A) Toinfluence people (B) To guide followers

(C) To achieve a common goal (D) All of these
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10. TR C H o TR & forg Gt fadhed g4 -
(A) T U P MUR W
“(B) DEIT? THRIUR1: TRIUTA2
(€) HITA? TEIRH1 <THIUTHA2
(D) U e & 3gEy
Choose the correct option for the ternary operator in embedded C:
(A) Based on ternary condition
(B) condition? Expression1: Expression2
(C) condition? Expression1 < Expression2
(D) Similar to execution of a Loop

11. RumuC #is #1 313eYe &
The output of given C code is:
#include
int main ()

{

intx=1,y=1,2
Z=X++ +Y;

printf (“%d, %d”, X, y);
}

(A) x=1, y=1 LAB) x=2, y=1 (C) x=1,y=2 (D) x=2, y=2
12. Pofif@a & @ frg sifriex Bt gdla urufied 82
A) ==and!= B) dIfdhd (C) Relational (D) BN
Which of the following operators have the highest precedence?
(A) ==and! = (B) Logical (C) Relational (D) Arithmetic

13. Pfif@a § @ SH 91 3TRe foearsy e 71 872

(A) * L AB) && © (D) <<
Which of the following operators isn't a bitwise operator?
(A) * (B) && ©) | (D) <<

14. LDRIRFAFITFENAE:
(A ¥HidsER  (B) didlew (O JSTRe (D) dEd
LDR Sensors are made of:
(A) Semiconductor (B) PbS (C) Lead Sulfide (D) Allof these
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15. W@?maﬂuﬂwﬂﬁ@%m#%@%mmmam@ﬂﬂ%wgi
A S B) suwdezes (C) SR TWTH 3200 (D) Ud TH 35

The wireless battery free sensor designed to record environmental and material
temperature is:

(A) DHT11 (B) ESP8266 (C) RFM3200 (D) LM35
16. 'PROGMEMqﬁm%mﬂéaaﬁaamammaﬁaﬁareﬂﬁﬁﬂ%z

A DRTTT  (B) W © uwgruwa (D)

The memory used while saving the data during ‘PROGMEM utility’ is:

(A) DRAM (B) Flash (C) SRAM . (D) EEPROM
17. Wmmwmmﬁmaﬁasﬁﬁmqﬁmmm%:

A)  3ffeSfA® Pt (B) WH-UH

(o) Hig (D) <dl &1 Ya

The stress management technique based on mental exercises which to produces the

relaxation response :

(A) Autogenic Technique (B) Eating
(C) Sleeping (D) Medicine intake
18. 0T % fRru TreedbeIay &1 7a g TR S &:
(A) oafaad faRwdn (B) R
(C) diB-Ig 33cYC by Tt
The selection of Microcontrollers for loT is based on:
(A) Individual Characteristics (B) Stability
(C) Desirable output (D) All of these
19. W%FﬁTafT 3R T ARy TE H A O AT el P HA: : G|
EIGIED

A oRmm AR (B) AfRwoRw Qe IREA (D) fae, ufta
The messages meant for the general public and that sent to a specific group are
called : respectively.
(A) Circular, Memo (B) Notice, Circular (C) Note, Circular (D) Minute, Circular

20. for loop H &l Afeaad x 3R y &1 U Yl S T(Run) HN?
How to run two variables x and y in for loop simultaneously?
(A) for (x = 0; x<m, x++), for (y = 0; y<m, y+=3) { } :
wB) for (x =0,y = 0; x<m, y<m; X++, y+=3)
(C) Both (A) and (B)
(D) for (x = 0; x<m, x++) { }, for (y = 0; y<m, y+=3) { }
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21.

22,

23.

24.

loT & getie, Wfad IUFHT, YW, HIghlbeler 3R it g

(A) @ \(B) UagueH (C) FeHe (D) gAEITE
loT comprises of internet, physical devices, sensors, microcontroller, and
(A) Information (B) Actuators (C) Intranet (D) Electronics

TRIE C H 3fd U B HY FHIG HI?

(A) End (B) Exit (C) Break
How to terminate an infinite loop in embedded C?

(A) End (B) Exit (C) Break (D) Abort

(D) Abort

AR 8 M loT FHIUA {3 BT Ued Tl 82

(A) ISR (B) ed

(C) IR HIST (D) Y

Which of the following is not the component of loT End point?
(A) Router (B) Gateway

(C) Communication Module (D) MCU

AP, TR, AR ... S W AR T areh P R g 2

A Shyaie Raré (8) W Rure

(€ wfa Raré (D) smafye Raré

The routine reports prepared in time-intervals like daily, weekly, monthly...... are
called:

(A) Formal Reports (B) Conference Reports

(C) Progress Report (D) Periodic Reports

25. yfaafyd ararazor # 7 @ 72 (M2M) HER & T S 91 e AR widieid foreR

27 |
w wRAd @) @Ard O wwwdd () vwad

Which application layer protocol is responsible for machine to machine (M2M)
communication in restricted environment?

(A) MQTT (B) CoAP (C) XMPP (D) AMQP
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26.

27.

28.

Page 7/21

AJHH _ «grd el

YA)  HH-TY B) fRrEn

© fawea (D) W& W@y
Self-esteem promotes .

(A) Self-worth (B) Disappointment
(C) Failure (D) ill-health

C & a1 sfRwR ¥ fife® () 3R wprintf () ¥ yrey RFEE B 39 UHR G TN E -

(A %Id (B) %d Q) %l (D) %f
The format specifier for printf () and wprintf () of long integer in C is denoted as:
(A) %Id (B) %d Q) %li (D) %f
UART &1 34 8:

&) gFEda tREfEe AT eefidpeT

@) gfiada gRmfwe e g

© gfiade qRiwe R / gaEiey

D) gFadd TR Sl giaHIcy

UART stands for:

(A) Universal Asymmetrical Radio Telecasting
(B) Universal Asymmetrical Radio Transmitter
(C) Universal Asynchronous Receiver/Transmitter

(D) Universal Asynchronous Radio Transmitter

U 2 AR J9T .
(a) @rge fEude MR B) 2fuafeargsnic
(C) e & digdl @ i B E (D) g gt

LDR Sensors: ;

(A) Light Dependent Resistor (B) 2pinned IC

(C) Controls Light Intensity (D) Allof these
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30.

31.

Ru e C Fs &, qu d R Awfd Hdre

In the given C code, for loop executes for:

#include
void main ()
{

int x=10;
for (; ;) { printf(“%d\n",x):}

} -~
(A) 10 times (B) 9 times (C) infinite D) Zero

loT qrgmr wrted i & wafa 8: ‘
(8) WG HI A

AA) T @ f3fSed waiaRu
© Sud ogH Ren (o)

The loT temperature monitoring is related to:
(B) Save time

(A) Analog to Digital conversion
(C) Real Time system (D) All of these

32 joT 2 2aaudic THARRANE (IDE) 3R ged B 91 &7
ue) SrgE (D) drEadt

A) TW@ATHTE (B) URPd
Which is loT integrated development environment (IDE) and tools?
(D) PHP

(A) HTML (B) Pascal (C) Arduino

33. FH W B! $Y URY TR GHd 67
LAYy SR (B) SRR R
(C) FrRfETis® (D) W HIUgaAe Hb
How can we initialize the array?
(B) Assigning array

(A) Initializing

(C) Factoring and array (D) Populating an array

34. Har vk d g wmiAa &

(A) mme¢mm:m:m
(B TNE (GTEHTER) A — R () - whfba - wede
(C) UNE (THISR) - A - Reftar (ufaforan) = fedier - wisdw
(D) e (ufafa) - A - RfiR (BPIeR) - ThIeR - wigdw
The communication process comprises of:

(A) Sender (Decoder) =» channel —> Receiver (Encoder) = Response = Feedback
(B) Sender(Encoder) = channel = Receiver(Decoder) — Response = Feedback
(C) Sender (Encoder) > channel = Receiver (Response) —> Decoder = Feedback
(D) Sender (Response) —» channel —» Receiver (Decoder) —» Encoder = Feedback

"~ M4-R5 /S2/ 08-22
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35.

36.

37.

39.

AT W HTE 3N A Jaral &Y Iueay B & R @ GRaT FeR & 58 X B8 2

(A) e g (8) wOaar € feade (D) FTH A PIE Tl
The main security challenge to overcome to make loT services available at low cost
is:

(A) Open security (B) Scalability (C) Detachment (D) None of these

A wige A Rufaf@a dw &1 Iwera 78 o g

(A) USRRH (B) Acad (C) uferpeA (D) grare
Following layer is not mentioned in TCP/IP Model.
(A) Presentation (B) Network (C) Application (D) Transport
RUM ST S AIHAU & U & fddeq g -
Choose the correct option for indexing of the given code:
int main ()
{
int xyz (8);
return O;
}
( (A 07 (B) 0.8 ) =l.7 (D) 1.7

st 2T AR UGS ) TR R SR ] A & e b 7 38 ¥ T 1 Qe 82
(A) FHT-HEUH “(B) SHTH-SIFR=dl

(©) ol (D) 3TH-UH

Mr. Rahul is seeking feedback after completing and implementing his project. This
act represents

(A) Time-Management . (B) Self-Awareness
(C) Gratitude (D) Self-Love
forzor yoTelt & 3iu-ou Riked ¥ IeTeR &

(A) fths dge, TR

(B) ftpw are, audH frdad

(©) 2ftpe drge, warid yarg A

() Fu

The examples of Open-loop system in control system are:
(A) Traffic Light, Toaster

(B) Traffic Light, Temperature Controller

(C) Traffic Light, Automatic washing machine

(D) Al of these
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40. WaRH pgm_rea
A) T (B) ol © f&=

The function pgm_read_word ((&(var_data[x][y]))) reads

41.

(A) Address (B) Integers (C) Strings

Arduino IDE & SeaIST 1R ?

A) ISP TP TP (B) Wd Y& B8
o A e A EuEld () Tt

What is the bootloader in the Arduino IDE?

(A) a piece of code
(C) stored in the memory space (D)~ All of these

42. Arduino @& 4

Page 10/21

(B) initiates the sketch

d word ((&(var_data[x]ly}))) T A A Uadl &:

(D) ST IR
from flash memory:

(D) Data files

A 3NTE-aN e UfdeR B) M-8 SR QeBIH
(© 3« drfdT v D) FTTHIDE I
Arduino is a ;
(A) Open-source Text editor (B) Open-source electronics platform

(C) Web programming language (D) None of these

a1 3 e a1 @ Arduino & 91y U TS Sl $exbRiT &1 a1y &:

digitalWrite (led_pin, LOW);

digitalWrite (led_pin, HIGH);
) T ] R A

(B)  HEFT-3eHT AR gRT Tas Sl /g 3R =g

(€) dedR 3/dt & fore faea #Y introduce R P &
(D) g

A LED interfacing with Arduino as shown implies:
digitalWrite (led_pin, LOW);

digitalWrite (led_pin, HIGH);

(A) LED off and on

(B) LED off and on by varying VCC

(C) Can introduce delay for better o/p

(D) All of these
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44. SQ3R A7 sy fafr o &9 R @ 82
(A) q% Uﬁﬁ 3R Hien & (Read, Recite, and Review)
(B) ‘1’3 g T, 3R GHe ¥ (Read, Remember, and Review)
© ITE; g1 $Y, 3R GRS &¥( Read, Recite, and Recall)
(D) UQ, UG $Y, 3R &1L W (Read, Recite, and Retain)
What are three R’s in SQ3R reading comprehension method ?
(A) Read, Recite, and Review
{B) Read, Remember, and Review
(C) Read, Recite, and Recall
(D) Read, Recite, and Retain

45. ___Qaia;aﬁa%mafmﬁaqa$wﬁmmwm%l
(A) & (B) fmcE we) (D) ¥4
A is a document that can be used as evidence in court.
(A) Notice (B) Minutes (C) Letter (D) Email

46. loT SR & ufee FISs Hufen & i ¢
A)  3if-RmrEd ST B sraRasdl
@®) e AR o
() (B) 3R (O T
The role of public cloud computing in the loT architecture is:
(A) Need for on-premises hosting

(B) Remote processing power.
(C) Enhanced inter-device communication

(D) Both (B) and (C)

47, R e & w5 S @ orfard e & ARSI E
(A) @I BrEfT (B) Wem Pt el Ao B gfaen
() w@Ererd gAvifa D) A®h
The essential feature/features of an email as communication medium is/are:
(A) Automatic filing (B) Facility to send copies of message

(C) Automatic retrieval (D) All of these

48, A & 19 P G TET 87

(A) ufRtoA (8) MU “C) Hm (D) fFe
Which is not the synonym of memo?
(A) Circular (B) Memorandum (C) Message (D) Minute

TSR, MA4-R5 /S2/ 08-22
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49.

¥R Ryl @) Tl @ b S H age § 2
A Rfvea (B) sdfRdd (C) Abfrdpd (D) (A) 3R (B) Gt

Sensors convert signals from analog to which domain?

(A) Digital (B) Electrical (C) Mechanical (D) Both (A)and(B)
50. WIEHIBITR o

(A) @I Rrew (B) uftrdr-wife

(€) gEs D) T

Microcontrollers are: "

(A) Embedded System (B) Application-specific

(C) Harvard (D) All of these

51. loT Gem Maffeal & Fufafea mia ¢

A) W& WP (B) AR J Acad

) TGS dERT (D) Awd

loT enabled technologies include following:

(A) Security Protocols (B) Wireless Sensor Networks

(C) Cloud Computing (D) All of these

52. TaesCH Rexm s adg:

(A) TP A (B) UP &R

© IS D) T & RR®

In embedded C, Literals means:

(A) aword : (B) aletter

(C) adigit ' (D) a string constant

53. Arduino 1S & IR H gT R 8?

(A) ToHT()TF REAUBRAT  (B) T () B ER-IR P fvar s &
(€) ®d YA M SE A e (O) it :
What is true about Arduino Codes?

(A) Setup () is a startup function  (B) Loop () is executed repeatedly
(C) Also known as sketches (D) All of these .

54. 'Arduino.h' 88X PTET & IR A Sl YA JA B, A T
(A)  Avrdude HTHCdUR 9 BISd B AUTIS Bl &
(B) Arduino @1 gl R HrdenTarsil a% Ugd UaH Hal
{C) #include <Arduino.h>

(D) T

The statements that are TRUE about ‘Arduino.h’ header file are:

(A) Avrdude software uploads the hex file -

(B) Gives access to all of Arduino’s core functionality
(C) #include <Arduino.h>
(D) All of these
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55. WIHRDH o oy t
(A)  3NTA eSS fparal & wry Weds
(B) T UTefR¥ ol & W GeRraTd Weds
(©) 3N ey il & W TeRET Wede
(D) i
Stochastic control system has:
(A) Feedback with unknown random actions
(B) Positive Feedback with unknown random actions

(C) Negative Feedback with unknown random actions
(D) All of these

56. a8 'PROGMEM' PROGMEM Sudifirar &1 U uRkad-eiie aites &1 98 frg 2% B
732 ' '
(A) avr/pspace.h (B) avr/pgmspace.h
(C) avr/pmspace.h ‘(D) avr/progmem.h
The keyword ‘PROGMEM '’ is a variable modifier of PROGMEM Utility. Which header
file contains it?

(A) avr/pspace.h (B) avr/pgmspace.h

(C) avr/pmspace.h (D) avr/progmem.h
57. T loT fEarss & 7 & for exthd 31 sframadha €1 Fd &:

A W (8) siifear/ difsa

(C) AT PAfaetact (D) Tt

An loT device may need interfaces for:

(A) sensors (B) audio/video

(C) Internet connectivity (D) All of these

58. 3IUA-qU 3R Feirs-ou Rew & 3R i W 3wl &:

(A Wi 8) fRRa (C) i “«0) Fwmh
The differences in an open-loop and a closed-loop systems are based on:
(A) Feedback (B) Stability (C) Complexity (D) Allof these

59. RAREAeHPUSUEAEdE_ HaR &I U& a0 ¢

(A) wifE®s (B) ommfed (C) fafea (D) =
The way we dress is an example of communication.
(A) Verbal (B) Nonverbal (C) Written (D) Spoken
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60. loT YT TR :
(A) T3S HT (B) ileh-a CarIairoft
(€ 31 uAIfafea (D) Tt
The loT supports:
(A) Cloud computing (B) Block-chain Technology
(C) Data Analytics (D) All of these

61. MQ135JW e : :
(A) T R¥RaeR ' (B) IR
(C)  drg wgwu e D) (B) 3R (C)
MQ135 Sensor is:
(A) Al detector (B) Gas Sensor
(C) Monitors Air Pollution (D) (B)and(C)

62. W C WA &1 ¥ ey -

Choose the correct option of C program having array:

int main ()

{

int xyz (4) = [10,20,30,40];
printf (*%d”, xyz (1)); e
} . . %%
(A) 0 (B) Compile error
(C) 10 (D) 20

63. WIHHAMEG_ = FNAGRALIM_ FsRAsasEas
(A) fatg, g (B) I, b
(C) drag, fawg (D) fadw, fawg
In a sentence, subject communicates about and predicate talks
about
(A) predicate, sentence (B) sentence, verb
(C) sentence, subject (D) predicate, subject

A Swgdi
(B) BIEUHIER
(©) ufd fafer v a1 grder srgar
By~ gt
Humidity Sensor is related to:
(A) DHT11
(B) Hygrometer
(C) Parts Per Million or Relative Humidity
(D) All of these
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65. WU P WY FuR $) HET oIl 2
(A)  FTRUHTE B) geTufAa ©) srufdas (D) 3MuERS®

Communication with oneself is called

(A) Interpersonal (B) Intrapersonal  (C) Impersonal (D) Formal
66. S EN T feardt § 3k RS @A BYft 8, df LCD 31 & T
B B veRfa #var 2
A 091 IpHur RIS ®) 190 HHHU 3R I
© 01 ThHU R BY (D) 130 GHH 3R HH
LCD displays the text form of data when EN line shows and RS line
is .
(A) Oto 1 transitions & High (B) 1 to 0 transitions & High
(C) O0to 1 transitions & Low (D) 1 to O transitions & Low

67. FafefEa urarsit &1 Iugin 3% Arduino $1 Wi T o1 SHar &

(A) 9aYyq (B) C++
(O (A) 3R (B) I (D) SRIF A B Tl
Arduino can be programmed using following languages:
(A) Python (B) C++
(C) Both (A) and (B) (D) None of the above

68. “Hello friend” Tl ARt & GuRId fvar SIem @t gfY 1 1 Ash) Sl 8 2
_AA) Serial. Print (F (‘Hello Friend"));
(B) Serial. Print (A (“Hello Friend"));
(C) Serial. Print (C (“Hello Friend"));
(D) Serial. Print (N (“Hello Friend"));
Which macro confirms “Hello friend” will be stored in the Flash memory:
(A) Serial. Print (F (“Hello Friend"));
(B) Serial. Print (A (“Hello Friend”));
(C) Serial. Print (C (“Hello Friend"));
(D) Serial. Print (N (“Hello Friend"));
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69.

& loT Weldia & Wi 81 8
(A) AcTH / TexAT WeIPIa AR

_(B) i® IR vIcIpIa

(€) UHBIA R Werbia

(D) I AR WArBIa

An loT protocols does not include:
(A) Network / Internet protocol layer
(B) Link layer protocol

(C) Application layer protocol

(D) Session layer protocol .

70. If-Else 3R g g Redc & iR 7 :
{A) If-Else ST search &I AR FdT &
®) [&9-F linear search & AR FT &
(©  If-Else ¥ 3fex B3 [ & fog o Redey &1 Iuant a1 o I&dl &
D) =P iy B¢ gl & g < Reiley &1 39N 51 o 9&d &
The difference in If-Else and switch case statement is:
(A) If-Else enforces binary search

(B) Switch-case enforces linear search
(C) Multiple statements can be used for numerous decisions inside If-Else
Multiple statements can be used for numerous decisions inside switch case

(D)
71.  Arduino ¥ T@ifag TFERA & JIY Feol o & |
(A) .exe (B) .ino (C) .ide (D) .doc
Sketches in Arduino are saved with the extension .
(A) .exe (B) .ino (C) .ide (D) .doc

72. 14 B &1 39N b U loT fEaTEH o7 Sexthal | Sl g ?

(A) dTE L(B) dgS 3R arRAH

(C) amReE (D) T A BIS T

An loT device connects with other interfaces using connections which are:
(A) wired (B) wired and wireless

(C) wireless (D) None of these
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73.

74.

75.

76.

77.

WoT &1 & 3R loT 7 59& IUaM 1§ ?

A) TR 3o v AR Ty B Sfeerd H gf
(B) AR 3t iy 3R G el

© 39 3if firg 3R gexaimfaferd # gur
(D) s 3ifw vy 3R wma # gfk

What is WoT and its usage in the 10T?
(A) Wirelessof Things & increase time complexity

\{B) Wireless of Things & reduce security

(C) Web of Things & improves interoperability
(D) Web of Things & increment in cost

mmmmmﬁﬂw%zﬁzmsﬁmﬁmmm%?

(A) Ffew (B) _forTea sife Hifem

(C) TwdsT D) EE

Which document that can be used as an evident in legal cases ?

(A) Notice (B) Minutes of a meeting

(C) Agenda (D) Memo '

732 SHIRCH § P T HISHIHEICR Tol © ?

A) dergd (B) 8086 UC) TR (D) 8051
Which one is not a microcontroller in Embedded Ecosystem-?

(A) PIC (B) 8086 (C) ARM (D) 8051
loT % fora Iudi &) o areh GaR Meifiear o/e: 7

(A) g (B) forsit (C) TR L@y e

The communication technologies used for loT is/are:

(A) Bluetooth (B) Zigbee (C) WIMAX (D) All of these

v &1 & ua fie A9 3R T B4 & IR H G F1 ?
(A)  FH Y FY UF e 9 A o ;

A4B] mw,owmam&hw@mmﬁmm%

(C) FU RPN 3uargug Y AR A

(D) A9t

What is true about sending and receiving the Serial TTL Signals:
(A) At least one serial port is there

(B) Communicates on digital input, 0(Rx) and 1(Tx)

(C) UART or USART :

(D) All of these

Page 17/21 37 ks e M4-R5 /S2/ 08-22




78. loT A # ESP8266 &1 31 JuTNT 87
(A) S A B A (8) g W AR
© TRewddddwaw (D) 3o aTa arel dTs-BTS Aleyd
What is ESP8266 used in loT applications?
(A) Low-cost Wi-Fi module (B) Microprocessor ona chip
(C) In-build HTTP software (D) High-cost Wi-Fi module

79. WﬁaaﬁﬂﬁaﬁArduinomﬁgﬁmmﬁﬁﬁamm%:

@ wHw ® dd © W (D) H|UW
The speed of DC motor is controlled by Arduino MElng . <o
(A) PCM (B) PPM (C) PWM (D) QAM
. ARENRR § Pafiied ges siafid g &:
3 A = “B) A © ™ (D) TIPS TRI
Microprocessors have following components embedded in them:
(A) RAM (B) Memory (C) ROM (D) None of these
81. P & fadwd loT &I uRuifd Hedt 872
UA) WHEg AT B) eafafda fRufeai
(©) IB-PIBRAT (D) AM-FeRSATREA Wcrbial
Which feature defines loT? ;
(A) Local network (B) Non-changing conditions
(C) Self-configuring (D) Non-interoperable protocol

82. U fRR = &1 39 USR UId a1 off gaovelr ¢
(A) @dd variable declaration area H
(B) main () & a1g
(C) const number int
(D) #define number 35
A constant variable can be declared as:
(A) only in variable declaration area
(B) After main ()
(C) const number int
(D) #define number 35
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86.

87.

(B) Yeab (©) aa;gq (D) fimg
A) Devi 25 il
(A) Devices (B) Network (C) Clusters (D) Things

| Wmmmaﬁmm%ms%m@ |
\(A) Q‘ﬁﬁs (B) Qﬁaﬁ (€ 3‘13;’[3 (D) mﬂ?ﬂﬁ’fﬁ

RAe)adiEng IS an art to bring in knowledge. It basically ]
( ncodes (B) Translates (C) Decodes (D) None of these

mﬁa—*’ﬂﬁ%mmwf%’w%ﬁﬁmmﬁmﬂl Wi o= &
&0 H 2ft 7 S 2

(A) Py (B) W Yo efo (D) Bl
Paralanguage is a part of meta-communication that deals with non-verbal
communication. Also known as :

(A) Poetry (B) Prosody (C) Haptics (D) Vocalic

TIEBIBI H, Tae-Tol QeI ST JUdhT g FRrg e ol & 2
(A) _fagga smyfif (B) o

A AER SR : (D) AR

In Microcontrollers, external access is used for:
(A) Power supply (B) Latches
(C) Memory Interfacing (D) Peripherals

ZeHRAT HIA THY BIEIS 107 FPHTC Vel X Jaball ¢ o gl a2 -
(A) TRER EEXE : (B) WIRIAW ¥

(O UaHed B8 $exY (D) IR gexE
Keyboard pins while interfacing can cause interrupt called as:
(A) Timer Interrupt (B) . Software Interrupt

(C) External Hardware Interrupt \_(8)/ Interfacing Interrupt

88, v area A fBI &1 o o 41 &2

B) fowre gamd & S8R ared ®1 fRufd & fore sramem &1 faty a3
() a1 @ favad g1 W dled §E R §
What is the basic function of the spring in a control valve?

(A) Characterize flow vy . |
(B) Oppose the diaphragm to position the valve according to signal pressure
(C) Close the valve if air failure occurs
(D) Open the valve if air failure occurs

—— ——
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89.

91.

92.

Gﬂﬁah?@aﬁé?u%loT%mﬂmaﬁ?lmﬁﬁwmm%ﬁm
i @: ,
(A) TR SHBR $ G Hb

(B malicious P18 0T HX

©) R @ e & e Ridredre @

(D) TTEIR S WY JB1S .
loT devices are vulnerable to attacks and threats. One of them is Cryptanalysis
attack that means:

(A) By recovering the encryption information

(B) Inject malicious codes

(C) Find ciphertext to break the encryption

(D) Tamper with the hardware

R > I g 9 TEE & g wet fawed I

Choose the correct option to access the 4™ element of the array :

int z [30];

int *pz;

pZ=2;

(A) *(z+3) (B) z[3] L(C) pz[3] (D) *(*pz+3)

St = 3 aER SR PPN BT Ui B areht R faRia Feadi @ |

A frer \B)” oafdic A&l

© fodafRufa (D) Sifd WIS

The enduring feature that describes an individual’'s behavior and attitpde is called

(A) Education (B) 'Personality-Traits
(C) Financial Status (D) Job Profile

3y gy o W 0S| 3R TCP/IP Hfsd fid &:

(A) mwmmmmm%mmﬁmmmwmaﬁa%
8) 30w o isa H, oY AR fecfiad A TR AT &

(C) (A) 3R (B)

) # 4t di/ag t aied & 7 W gt 8

The major characteristics on which OSI and TCP/IP model differs:

(A) 0S| model is independent generic protocol & TCP/IP is communication protocol
(B) In OSI model, Transport layer guarantees the delivery

(C) (A)and(B)

(D) TCP/IP model consists of 7 layers
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93.

97.

- ' uments
% Function arg
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I F 10T ¢
¥ <

w'u)T - '
RPICHFR Uwre g wids ¥ 11 € Fuauil & 9 TEaqel AR A

= W y
(A) XML ey Bl

The tuture |g7 & et © it (O) 3 & B
business—critical intt::rst .mf'aStructures are based on technology for
(A) XML action between devices without direct human interaction.
(B) .Net (C) Blockchain (D) None of these
| gnﬁam y
((x)\)T mﬁm o oy
Main ®) e (C) wEhidbger (D) Iuad gt
(A) components of loT based systems are:
Bicion (B) Actuators (C) Microcontrollers (D) All of the above
ST TN R Preseqma o 213 22
(A) 1 (B) 2 C) 4 <oy /6‘
How many pwm pins does the Arduino Uno have?
(A) 1 (B) 2 C) 4 D) 6
Arduino IDE ¥ 31P§C el d1 g ?
AT et qeeitsr () ATmegad2gp
(©) (A) 3R (B) aHl (D) 3MRH B P T 1024 IZC AT &
What is the Optiboot bootloader in the Arduino IDE?
(A) Default bootloader (B) ATmega328p
(C) Both (A) and (B) (D) Takes 1024 bytes for initiating
v Hae #, Ta TRl 1 uifia faan o 8
() uEH Red (B) eI aTE Ieg
(€ waRM HifHC (D) et ST XX

In a function, an array is passed by:

(A) Address relocation (B) Call by value

(D) Call by reference
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98. A P HT wHEA & forg IR  grftarfeul
(A) WY, safrTd (B) v, Wt
AC  ¥E, T (D) dféra, B
The language of memos should be and to understand.
(A) Indirect, personal (B) Direct, concise
(C) Lucid, easy (D) Concise, difficult

99. TP TRUR IHHVIP, xyz[j AYE e e

LA 0 B) -1 ). (D) 2
An array index, xyz [ ] starts with >
(A) 0 (B) -1 ). (D) 2
100. IR TR F1 IuANT fbaT STl B
(A) Sidiea 2fém (B) it "aaA
4O Sfssiae fEeaH (D) AT Rwd
IR Sensors are used in:
(A) GPS Tracking (B) Moisture sensing
(C) Object detection (D) Analog signals
-000-
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Answer 17 A 35 A 53 D 71 B 89 C
i b 18 D 36 A 54 D 72 B 9 B
5 B 19 B 37 A 55 D 73 C 91 B
— 20 B 38 B 56 B 74 A 92 A
4 B 21 B 39 C 57 D 75 B 93 C
5 B 2 C 40 C 58 A 76 D 94 D
& B 23 B 41 D 59 B 77 D 95 D
2 B 24 D 42 B 60 D 78 A 9% C
s D 25 A 43 D 61 D 79 C 97 C
s B 26 A 4 A 62 B 80 D 98 C
5 B 27 A 45 A 63 D 81 A 99 A
11 B 28 C 46 D 64 A 82 D 100 C
12 D 29 D 47 B 65 B 83 C
3. A 30 C 48 D 66 A 84 C
@ D 31 A 49 A 67 C 8 D
15 3B € 50 A 68 A 86 C
16 B 33 A 51 D 69 D 87 C

34 B 52 D 70 C 88 B

Free Online Computer Classes on
YouTube Channel UPCISS
www.youtube.com/upciss

For free PDF Notes

Our Website: www.upcissyoutube.com




